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QUESTION 1

An architect is designing a new vSphere environment with the following resources: 

600 vCPU 

5,760 GB RAM 

Average resource usage is: 

60 vCPU 

1,152 GB RAM 

The design must meet the following requirements: 

The environment has the ability to burst by 25%. 

Each host can schedule 36 vCPUs and has 512 GB RAM. 

Management overhead is 20%. 

What is the minimum number of hosts required to meet the design requirements? 

A. Three 

B. Five 

C. Four 

D. Two 

Correct Answer: D 

 

QUESTION 2

An organization\\'s existing vSphere environments are configured for Enhanced Linked Mode. The DevOps 

team automates the creation of hardened virtual machine images for various operating systems. Their 

continuous integration/continuous delivery (CI/CD) pipeline runs a task at the end of a successful build, 

which uploads the Open Virtualization Format (OV) image to a sandbox content library, deploys a virtual 

machine from the image, and then destroys these objects after quality checks are complete. 

The following requirements have been noted: 

All content libraries and images must be centrally created and managed. 

All images must be capable of being updated. 

All images must be refreshed and available to subscribed libraries within 24 hours. 
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All images must provide details of the image contents and versions. 

All images must be capable of being reverted to a previous version. 

All images must be capable of having the hardware and guest operating system customized during 

deployment. 

Which three recommendations should the architect make to design a content library solution that will meet 

these requirements? (Choose three.) 

A. Create a local content library in the primary vSphere environment and enable publishing. 

B. Create and publish a new subscription to a new subscriber library for each target vSphere environment. 

C. Deploy the OVF images to vSphere and clone as an OVF template to a local content library. 

D. Deploy the OVF images to vSphere and clone as a VM template to a local content library. 

E. Edit the Auto Sync Refresh Interval advanced setting for each subscribed library. 

F. Add a new subscriber library from each vSphere environment. 

Correct Answer: ACF 

 

 

QUESTION 3

An architect is designing a new vSphere cluster. The requirement is to provide a total of 96 CPU cores and 

1.5 TB RAM across all hosts. 

The following information has been provided: 

Two different physical hardware profiles are available for the ESXi hosts in the cluster. 

-

Profile 1: 16 CPU cores and 256 GB RAM 

-

Profile 2: 32 CPU cores and 512 GB RAM 

Profile 2 is twice as expensive to purchase as Profile 1. 

Which two aspects should the architect consider when selecting the hardware profile? (Choose two.) 

A. The manufacturer and model of the CPUs in the hosts 

B. The amount of capacity available for failover of virtual machines within the cluster 

C. The downtime allowed for virtual machines that will be running within the cluster 
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D. The cost to procure and maintain the hardware 

E. The number of virtual machines that will be running within the cluster 

Correct Answer: BE 

 

 

QUESTION 4

Refer to the exhibit. 

During a requirements gathering workshop, the architect shares the following diagram: 

What should the architect recommend for guaranteed throughput for each service? 

A. Use explicit failover order with pNIC0 as Active for ESXi Management and VM Network Use explicit failover order
with pNIC1 as Active for backup network Use explicit failover order with pNIC2 as Active for vMotion Use explicit failover
order with pNIC3 as Active for replication 

B. Use the Route Based on IP Hash for ESXi management and VM network Use the Route Based on IP Hash for
backup network Use the Route Based on the Originating Virtual Port for vMotion Use failover with pNIC3 as Active for
replication 

C. Create a link aggregation group (LAG) for vDS_01 Use the Route Based on Physical NIC Load for vMotion Use the
Route Based on Physical NIC Load for replication 

D. Use the Route Based on IP Hash for ESXi management and VM network Use failover with pNIC1 as Active for
backup network Create a link aggregation group (LAG) for vDS_02 

Correct Answer: B 

 

QUESTION 5
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An architect is designing a VMware solution for a customer to meet the following requirements: 

The solution must use investments in existing storage array that supports both block and file storage. 

The solution must support the ability to migrate workloads between hosts within a cluster. 

The solution must support resource management priorities. 

The solution must support the ability to connect virtual machines directly to LUNs. 

The solution should use existing 32G fabric infrastructure. 

There is no budget for additional physical hardware. 

Which design decision should the architect make to meet these requirements? 

A. The ESXi hosts will leverage Fibre Channel (FC). 

B. The ESXi hosts will leverage iSCSI. 

C. The ESXi hosts will leverage Fibre Channel over Ethernet (FCoE). 

D. The ESXi hosts will leverage NFS. 

Correct Answer: A 
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